
















340 Km recorridos
por un coche*

0,300 Kg
de CO2

300 Kg
de CO2

60 Kg
de CO2

7,5 Kg
de CO2

X

=

=

=

25 Kg

o

200 Kg

1.000 Kg

es decir
63 Km recorridos
por un coche*

es decir
504 Km recorridos
por un coche*

es decir
2.521 Km
recorridos
por un coche*

1 Kg

cada kg de
IRIDEA BIO

hace ahorrar:

40 Kg
de CO2

sobre una superficie
para barnizar de 100 m2

permite ahorrar:

Aplicar

270 Km recorridos
por un coche*

0,530 Kg
de CO2

530 Kg
de CO2

106 Kg
de CO2

13,25 Kg
de CO2

X

=

=

=

25 Kg

o

200 Kg

1.000 Kg

es decir
111 Km recorridos
por un coche*

es decir
891 Km recorridos
por un coche*

es decir
4.454 Km
recorridos
por un coche*

1 Kg

cada kg de
ARBOREA BIO
hace ahorrar:

32 Kg
de CO2

sobre 50 ventanas de tamaño
estándar (140x130 cm)

permite ahorrar:

Aplicar
























